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1. P & G Auto Parts sells parts to AAA Car Repair during 2014, P&G offers volume discount of
2% on purchases up to $30,000 and 3% on purchases above $30,000 if the customer’s purchases
for the year exceed $100,000. In the past, AAA normally purchases $150,000 in parts during a
calendar year. On March 25, 2014, AAA Car Repair purchased $37,000 of parts. The journal
entry to record the sale includes a

(A) debit to Accounts Receivable for $37,000.
(B) debit to Accounts Receivable for $36,260.
(C) credit to Sales Revenue for $35,890.
(D) credit to Sales Revenue for $36,260.
2. Which of the following is more likely to be recorded as an intangible asset?
(A) Secret recipe discovered in the development phase
(B) Fees paid to a consultancy company for acquiring new strategic skills of management
(C) Fees paid for acquiring a publishing title
(D) Customer list created internally

3. The International Accounting Standards Board (IASB) defines one of the 5 elements as follows:
“the residual interest in the assets of the entity after deducting all its liabilities” Which element
matches this description?

(A) Retained earnings.

(B) Income.

(C) Equity.

(D) All of the choices match this definition.

4. During the year, Kiner Company made an entry to write off a €4,000 uncollectible account.
Before this entry was made, the balance in accounts receivable was €50,000 and the balance in
the allowance account was €4,500. The cash realizable value of accounts receivable after the
write-off entry was

(A) €50,000. (B) €49,500. (C) €41,500. (D) €45,500.

5. OnApril 1, 2013, Verlin Co. purchased new machinery for $240,000. The machinery has an
estimated useful life of five years, and depreciation is computed by the sum-of-the-years'-digits
method. The accumulated depreciation on this machinery at March 31, 2015, should be
(A) $160,000. (B) $144,000. (C) $96,000. (D) $80,000.
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6. In a mango farm there are mango trees, which are harvested as mango fruit. Then mango fruit is
further processed to different classifications by size, and is shipped for sale to wholesaler. What

is appropriate for mango trees to be consider as one of the following assets?
(A) Bearer biological asset

(B) Consumable biological asset
(C) Agricultural produce
(D) Property, plant and equipment

7. Same as the question 6 above, what is appropriate for mango fruit processed to different
classifications to be consider as one of the following assets?
(A) Consumable biological asset
(B) Agricultural produce
(C) Inventory

(D) all of the above assets are correct

8. Unipresident Company has the following items at year-end:

Cash in the safe $ 20,000
Balance in the cheque account 210,000
Certificate of Deposit investment with maturity of 2 months 50,000
Postdated cheques 45,000
Cheque guaranteed by the bank 30,000
Balance in the current bank account A of Bank Taiwan 300,000
Overdraft in the current bank account B of Bank Taiwan 40,000

If Bank account A and B play an integral part in Unipresident’s cash management. Unipresident
Co. should report cash and cash equivalents of

(A) $565,000. (B) $570,000.  (C)$610,000. (D) $655,000

Use the following information for question 9 to 10
Bassinger Company purchases an oil tanker depot on January 1, 20X1, at a cost of $600,000.
Bassinger expects to operate the depot for 5 years, at which time it is legally required to
dismantle the depot and remove the underground storage tanks. It is estimated that it will cost
$50,000 to dismantle the depot and remove the tanks at the end of the depot's useful life. Based
on an effective-interest rate of 5%, the fair value of the environmental provision on January I,

2015, is $39,176. Bassinger uses straight-line depreciation; the estimated residual value for the
depot is zero.
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9. What amount of profit or loss should be reported on the 20X1 statement of comprehensive
income related to the depot asset?

(A) $127,835 as expenses
(B) $121,959 as expenses
(C) $129,794 as expenses
(D) $159,176 as expenses

10. Assumed Bassinger pays a demolition firm to dismantle the depot and remove the tanks at a
price of $60,000 on December 31, 20X5, what amount of profit or loss should be reported on

the 20X5 statement of comprehensive income related to the settlement of the provision after
dismantling the depot?

(A) $0

(B) $10,000 as a loss
(C) $10,000 as a gain
(D) $20,824 as a gain
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